OPERATOR’S MANUAL
SET-UP INSTRUCTIONS

MARKET FARM &

EQUIPMENT LTD PARTS LI ST

WAGON PARTS

MARKET FARM EQUIPMENT LIMITED, R.R.#1 DASHWOOD, ONTARIO, CANADA

TEL# 519-238-2301 FAX# 519-238-6044 E-MAIL: mfeltd@execulink.com

www.marketfarmequipment.com

“SERVING THE FARM INDUSTRY SINCE 1962”




large steering pin (Front) 10/11 ton WAGON

\

small steering pin

/
\

2" x 7 %" spindle

small steering pin

Tie Rod - 1" x 28 5/8” (plus 3” thread)

3”1.D.x 36" long

O
/ small steering pin 7/8” x 3 %”

large steering pin 1 3/8” x 4 1/16”

(Rear) [l—ﬂﬂl]]

spindle bolt 7/8” x 8”
10 ton gets 5000 Ib hubs (6 bolt) o
11 ton gets 5500 Ib hubs (8 bolt)
1 ===

| o=

2" x 15” spindle

—] I




12 Ton (R.B.) Wagon FRONT

© ® Large steering pin
1" x 32 %”{a rod S ‘©~I
Small steering pin Small steering pin
Ly @)

11/8” hole —] —

] ]

2 %" x 8 2" spindle

12 ton wagon gets
6500 Ib hubs (8 bolt)

Large steering pin
13/8” x4 1/16”

3 %" x36" small steering pin

7/8" x 3 %"

| © ﬁ
Spindle bolt1 1/8” x9 7/16”
REAR 11/16” hole

= = = [T

2 %" x 15” spindle

N

3 %" x 40"

13/16” hole




10/12 TON tongues

_H- NI Tongue bolt 11/8” x97/16”

3%"x72" long e

o= |

3” x 36" long

/

H

o o 2
—] A

C

|

1” hole 1%” hole



10/12 TON Short Tongue (Hitch)

BOTTOM

TOP
1%”0.D.x11/8" 1.D.

~ ° O
\

X

N~ /

7/8" hole 7/8" hole

\
O — 1%”0.D. 11/8” I.D.

6 5/16” long (bushing)
v

o o J—| v

| | I

hitch bolt 1 1/8” x 7 %"



14 TON TONGUE (Inner and Outer)

et

11/16" Hole

Tongue bolt 13/8” x 12 5/8”



14 Ton wagon (front) w/ RB

large steering pin ~—

large steering pin

tie rods 1 1/8” x 36”

large
steering pin

© &=

2 %" x 8 /4" spindle

uses
8000Ib
hubs

—————

3 %" x 36” long pipe 5

-

Large steering pin 1 3/8"” x4 1/16”

E LI Spindle bolt 17" x 11 4"



15 Ton Wagon (front) w/ RB

e

large steering pin

(@)
large steering pin
[~
tierods 1 1/8” x 36"
large steering pin
yn
17%” hole =Ll
>0
[ [ ]
—
< © ©
ﬁ- Large steering pin
13/8"x41/16"
i ==== Spindle bolt 1 %" x 11 %"
— 3 %" x 36" pipe

3” x 8 2" SP spindle

uses
8000 Ib

hubs




14/15 Ton Short Tongue (Hitch)

13/8”1.D. 2%"” O.D. 8" lon
O @) 4+ / ? g

7/8” hole

//

[' “””ﬂ Tongue bolt 1 3/8”

x125/8"

m ”””“ Short Tongue bolt

1%"x97/8"




24 ton (front) w/ RB

16,000 Ib hubs

1 %” x 35” tie rod

O

1 %" hole

ﬁ Large steering pin 1 1/8” x 5”
3 per wagon

:::: 17" x 13 %” Spindle bolt

1 %" hole

5" x 46" pipe

4” x 10 %" CR spindle



WJ\_L“_IJ

NS/ |

[Tl 13" x 1 %" horiz. tongue bolt

_ul._“ E_ 9 %" x 1 %" vert. tongue bolt

24 TON tongue and bolts



FRONT SPINDLE ASSEMBLY (LEFT SIDE)
14 TON MARKET WAGON

B
ZasS
.2 vy
e

o

2%4” X 8%5” SPINDLE

¥2” X 2145” FLAT BAR 6” LONG
7/8” HOLE

GREASE FITTING IS ON
THE OPPOSITE SIDE OF
THE SPINDLE TUBE FROM
THE FLAT BAR



FRONT SPINDLE ASSEMBLY (LEFT SIDE)
15 TON MARKET WAGON

0

3” X 8%42” SPINDLE

S~
==
T = 4

o=

¥2” X 2)4” FLAT BAR 6” LONG
7/8” HOLE

GREASE FITTING IS ON
THE OPPOSITE SIDE OF
THE SPINDLE TUBE FROM
THE FLAT BAR



FRONT SPINDLE ASSEMBLY (LEFT SIDE)
FOR 10/11 TON MARKET WAGON

7/8"

(—

5-11/16"

le— 274"

GREASE FITTING IS ON
THE OPPOSITE SIDE OF
THE SPINDLE TUBE FROM
THE FLAT BAR

3/8” x 2V2” FLAT BAR X 2” LONG
¥2” CROP

2

....... 2” X 7%4” SPINDLE

Y527 X 2)4” FLAT BAR 5%4” LONG
WITH CROPPED CORNER

%” HOLE



FRONT SPINDLE ASSEMBLY (LEFT SIDE)
FOR 10 TON ELMIRA WAGON

7/8"
£ ==
5-11/16”
A\ 4
1
Y -
3/8” x 2)2” FLAT BAR X 2” LONG
¥2” CROP
5-5/8”
E’::_}Q .................. » 0 i ‘
N m() &
4 2%4” X 8%4” SPINDLE
- z‘yzn

¥2” X 2)4” FLAT BAR 5%4” LONG

GREASE FITTING IS ON WITH CROPPED CORNER

THE OPPOSITE SIDE OF o
THE SPINDLE TUBE FROM 74" HOLE
THE FLAT BAR



FRONT SPINDLE ASSEMBLY (LEFT SIDE)
12 TON MARKET/ELMIRA WAGON

1-1/8”

A \—-—/:

6-1/16”

............. 3/8” x 2)2” FLAT BAR X 2” LONG
¥2"” CROP

2}

o~
@ .............. RhbLT G o \

le— 234"

¥2” X 2Y42” FLAT BAR 5%2” LONG
GREASE FITTINGS ARE ON

3/»
THE OPPOSITE SIDE OF 74" HOLE
THE SPINDLE TUBE FROM
THE FLAT BAR



